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Assignment

@Reduce to lowest terms, stating the restrictions on the variable.
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3. Express in simplest form, stating the values of the variable for which the expression is  #¢ EXO -
not defined.
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4. Express in simplest form, stating the restrictions on the variable ( "l Y Lo
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5.} A rectangular prism has a length of p cm and a width and height that are each 2 cm less
than the length.

a) Write an expression in terms of p for the surface area of the prism, and express the
surface area in simplest factored form.
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form which represents the total length of the edges which make up these two squares.
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c¢) If the ratio of the surface area in a) to the edge length in b) is 10:1, find the volume
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implify, where possible, and state the nonpermissible values for x in terms of y.
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Consider the rectangle shown.
a) Write and simplify an expression for the area 2
length of the rectangle. () - A 24x3 - 54x % - 15x 6x - 15x
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b) Determine the perimeter of the rectangle if x = 24/2 cm. Give the answer in simplest
radical form.
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Write a rational expressmn in x with a numerator of 1 and a denominator written as

an integral polyn so that the nonpermissible values are
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NMuluple
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